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73 DERIVADAS  (con SOLUCIONES) 
 

 

 
 
 
 
 

◼ Hallar las derivadas simplificadas de las siguientes funciones:  

1. y=3 (y’=0) 

2. y=x (y’=1) 

3. y=5x (y’=5) 

4. y=x3 (y’=3x2) 

5. y=x4+x3+x2+x+1 (y’=4x3+3x2+2x+1) 

6. y= 4x4-x3+3x2-7 (y’=16x3-3x2+6x) 

7. 
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= − + − + −
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= − + − + 
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8. y=3(x2+x+1) (y’=3(2x+1)) 

9. y=4(3x3-2x2+5)+x2+1 (y’=36x2-14x) 

10. 
3 22x 3x 4x 5

y
2

− + −
=  (y’=3x2-3x+2) 

11. y=(x2+1) (2x3-4) (y’=10x4+6x2-8x) 

12. y=1/x (y’= -1/x2) 

13. y=1/x3 (y`= -3/x4) 

14. y=2/x5 (y’= -10/x6) 

15. 
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20. y=(x+1)5 (y’=5(x+1)4) 

21. y=(2x2-3x+1)3     (y’=3 (2x2-3x+1)2 (4x-3)) 

22. y=(x2+1)100 (y’=200 x (x2+1)99) 
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29. 
3 4 2x 3x x 1

y
3 4 2 x

= − + −     (y’= -3x3+x2+x+1/x2) 

30. y=2/x  (y’= -2/x2) 

31. y=3 (x2-x+1) (x2+x-1)  (y’=3(4x3-2x+2)) 

32. 
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33.  y=x/2  (y’=1/2) 

34. 
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35.  y=(2x2-1)(x2-2)(x3+1)   (y’=14x6-25x4+8x3+6x2-10x) 

36. 
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37. y=(x2+1) (3x+2)3  (y’=(3x+2)2 (15x2+4x+9)) 

38. y=(3x2+2) (2x+1)3 (y’=(2x+1)2 (30x2+6x+12))  
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48. y=2x(x2+1)(2x-1)(x+2)  

49. 
2(x 1) (x 2)

y 3 
x 1

− +
=

+
   

3 2

2

2x 3x 5
y' 3 

(x 1)

 + −
= 

+ 

 

50. 2x 4
y

x 3

+
=

+

   
3

x 4
y'

(x 3)

 +
 =
 + 

 

51. 
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56.  y=2 (3x2-2)3 (y’=324x5-432x3+144x) 
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